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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
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Note : Attempt questions from section as per instructions given 

under each section. 

SECTION - A 

(Long Answer Questions) 

Answer any two questions from this section. 	2x20=40 

1. Explain the concept of Land Reforms in India. 

What are its various components ? Indicate the 

areas of success and failures of various land 

reform legislations and analyse reasons for failure. 

2. What are the main features of New Agricultural 

Strategy ? State the economic and socio - logical 

effects of Green Revolution on the agrarian 

economy of India. 
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3. Examine the role of various agencies providing 

rural credit in India. Has the growth of 

institutional credit been successful in eliminating 

the rural money lenders and their oppressive trade 

practices ? 

4. Explain the meaning of the Public Distribution 

System (PDS) and state its objectives. Explain the 

role of Public Distribution System in terms of 

inter - regional resource allocation as well as 

surplus and deficit states. 
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SECTION - B 

(Medium Answer Questions) 

Answer any three questions from this section. 	3x10=30 

5. What was the impact of commercialisation of 

agriculture in British India ? 

6. Examine the relationship between mechanisation 

of agriculture and employment. 

7. What is poverty line ? Comment briefly on the 

extent of rural poverty. 

8. What should be the cropping strategy in drought 

prone areas ? 

9. Briefly describe the structure of agricultural 

marketing in India. 
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SECTION - C 

(Short Answer Questions) 

Answer all the questions from this Section. Marks are 

indicated against each question. 	
3x10=30 

10. Explain any two of the following concepts : 2x5=10 

(a) Agricultural subsidies. 

(b) Cooperative Marketing. 

(c) Target Group Beneficiary Oriented 

Programme. 

11. Distinguish between any two of the following : 
2x5=10 

(a) Benign Neglect and Malign Neglect. 

(b) Marketed Surplus and Marketable Surplus. 

(c) Land revenue and agricultural income tax. 

12. Write short notes on any two of the following : 
2x5=10 

(a) Relief expenditure. 

(b) Imposition of agricultural income tax in 

India. 

(c) Cropping Pattern. 
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